N of simulated tracks vs transverse vert position N of associated tracks (simToReco) vs transverse vert position N of simulated tracks vs z vert position

=
o
w
(Y

TrackingParticles
TrackingParticles

Recons@cted TPs
o

=
o

=
o

10E

1
2= I = | :
g ¥ ¢ | il
- 1=- . S0 S
oot ; Il
0?_50—2 10—1 1 10 102 01{6—2 10—1 1 10 102 09—530 =20 -10 0 10 20 30
TP vertr (cm) TP vertr (cm) TP vert z (cm)
N of associated tracks (simToReco) vs z vert position | | N of simulated tracks vs. sim PV z | | N of associated tracks (simToReco) vs. sim PV z |
|2 %] 12
o <@ o
= o =
3 § 3
5 a10’ 5
= £ =
(2] < 0
c Q c
8 g 8
9] L, o}
o 10 @
10 L L.
1 H

_ . onwf _r

E 3 ik

- AWl

= L |

0.05L ; ] ; ; 0.050i L BLLLLENET S B, 0.95L ; ATl ; ;
=30 -20 -10 0 10 20 30 -20 -15 -10 -5 0 5 10 15 20 =10 -5 0 5 10 15 20

TP vert z (cm) TP Sim. PV z (cm) TP Sim. PV z (cm)



	Contents
	Page 1


